
E 3067-0410

1

2

3

4

5

6

7

8

9
10

11

12

13

14

15
16

16

17

18

19

20

22

23

24

25/26/27

28

28

29

29

30 31

31

30

25/26/27

32

33

34 35

36

37

38

38

39

39

40

40

41

42
42

45

45

46

4748

49

50

51

52

53

54 55



E 3067-0410 

Position 

Ref.No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

Position 

Ref. No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

1 1 10016782   30 8 25044100  DIN912-M8x16 

2 1 25038042  DIN933-M12x16 31 8 20029011  VSKZ 8 

3 1 25008011  DIN7603-12x18x1,5 32 1 10017149   

4 1 11000928   33 1 20013295   

5 4 20029011  VSKZ 8 34 4 25044100  DIN912-M8x16 

6 4 21000585  DIN7964-M8x40 35 4 20029011  VSKZ 8 

7 1 10016791   36 1 20020035   

8 1 10016071   37 1 10017152   

9 1 20029001  VSK 10 38 2 10017093   

10 1 10007370   39 2 25045028  DIN912-M10x35-10.9 

11 1 10017148   40 2 20029025   

12 4 20029011  VSKZ 8 41 1 10016795   

13 4 25046015  DIN7984-M8x16 42 2 25001022   

14 1 20013295   43      

15 1 25017047   45 2 25001156   

16 2 25001156   46 1 10017154   

17 1 10017150   47 1 10008320   

18 1 10017340   48 1 25027004  DIN914-M8x16 

19 1 20029026   49 1 25035026  DIN472-J28x1,20 

20 1 25045037  DIN912-M12x45-10.9 50 1 25001513   

21      51 1 25034002  DIN471-A12x1,0 

22 1 10016790   52 1 10016066   

23 1 25015046   53 1 20013270   

24 1 25034020  DIN471-A38x1,75 54 1 20013301   

25 0 20025561   55 2 20013103   

26 0 25025215  DIN988-PS-50x62x0,1         

27 0 20025163           

28 2 10017147           

29 2 20013295           

04.10        


